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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP Term End Examination December-2019 & June-2020

1. Date of Publication : 14/02/2020

2. Last date of Submission of answer script by the student to the study :07/03/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 08/04 /2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. :18/04/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04 /2020
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Q- @6 27 Teq e | 20 x 1 =20
Answer any one question.
a—b b-c c—-a
xa2+b2 xb2 +c2 x02+a2
1. (a) €9 @|—— X | =—— x | =— — =1. 5
x—ab x—bc x—ca
a-b b—c c-a
xa2+b2 be +c2 x02+a2
Show that | ————— X | ———— x | =—— =1.
x—ab x—bc x—ca
(b) y q6 AR AT I, A0 GG 7 AN I (B0 G TG x2 7 AN T (8™
A | I y = 49 T, T x = 3 IR 5, OF x 8 y-a3 N o [7ofF 26 | 5
y is the sum of two quantities of which one varies directly as x and the other varies
inversely as X2 If y =49 when x = 3 or 5, find the relation between x and y.
(© a b @R c SIS oSS ABET 2™ FEF (T log,, x, logy x @R log, x KoE®
Hofoto U< | 5
If a, b and care in G.P., prove that log  x, log; x and log, x are in H.P.
2x% —2x+4
(d) ™M @ x-aQ9F IR JES &) 2—-£§W 1 @R -7-Aa9 W& FC AT 1
x“—4x+3
5
2x? —2x+4 .
Show that, for real values of x, the value of - cannot lie between
x“ -4x+3
1 and -7.
2 (@) CFIET NP AT AT n-ARGF AWM (61T 3n2 +5n | @ AN oifieq Foow
*M 152 ? 5
The sum of first n terms of an A.P. is 3n2 + 5n. Which term of this A.P. is 152 ?
(b) 32— 24 -ag ol fef7 e | 5
Find the square roots of {32 —,/24.
() I a?=5a-3 @R b?>=5b-3 TI, (a=b) IRET @A BEr© ANTICER Jorafe
2 qmz 2 orfy ety e | 5
If a®=5a-3 and b2 =5b- 3, (a#b), find the quadratic equation whose roots
a b
are - and o
2 3
2+3x  (2+3x) (2+ 3x) n
.. @ © X" -G IRS! WeT T |
(d)1+l_1+l_2+l_3+ 3 @NTre x EECURE 5

Find the coefficient of x™ in the series
2 3
2+3x+(2+3x) +(2+3x)

1 [2 L3

1+
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- 76 e Tee e | 12 x 2 = 24
Answer any two questions.
2n 1 -1
3. (a MANE@ (x—%) 97 JEfeq Turomis ‘3'5"'@2” )(—2)”. 6
1)y2" . 1.3.5....(2n-1)
Show that the middle term in the expansion of (x - ;) is [n (-2)".
b) 713 @@ 3T v FE@ sogl P 2@ 337 @b Jike g () 77 [OIeE aew
(ii) ¢ T AP 2 6
In how many of the permutations of 7 things taken 3 at a time when one particular
thing (i) always occurs, (ii) does never occur ?
4. (a) @9 & 40,000 B YETH @ A0 00 TgF | T 18T (B e 7917 10,000 BIpl
W& @GR T T 10 b W qiES e 5% (@) vedfn 219 @ Y SEE |
A FFRET BIpl (I ey (/P 1 99979 S (M | 2ieor e sifese el a1 6
A person wishes to purchase a house valued at Rs. 40,000. He will pay Rs. 10,000
at the time of purchase and agrees to pay the balance in 10 equal yearly instalments
at 5% per annum compound interest. If the first instalment be paid after the end of
one year from the date of purchase, find the amount of each instalment.
(b) 3x-4y+4=0 @R x+y-—1=0NEEIMGT @AY @R x — y = 0 IR TH
T AR NP ol Peee | 6
Find the equation of the straight line passing through the point of intersection of the
two straight lines 3x-4y+4=0 and x+y-1=0 and perpendicular to the
straight line x—y=0.
5. (@ (2,1),(0,5)@R (-1, 2) Rvsim qceg Aeae ez e | 6
Find the equation of the circle passing through the points ( 2, 1 ), ( 0, 5 ) and
( _17 2 )
. 2
(b) Wﬁ@w:xlj’fw{% —x-6 x;l}. 6
3x“+2x+1 x°+1
. 2
Evaluate : xlir)noo 2x2 —x-6 , xg+1 )
3x“+2x+1 x°+1
6. (1) x%-x+y=0 SRy TfeTE o, AN TR @3 A ¢ Teq 7=
foyefay <peeey | 6
Find the length of the latus rectum, equation of the diretrix and the coordinates of
the vertex and the focus of the parabola x2 - x+ y=0.
(b) CIIE Tofaces @b A @ FF6e Ffes FH% INEE (1, 0) @ (3, 0) &K

@e@w%w@wﬁaﬂ%qﬁq‘ﬁwm 6

The coordinates of a vertex and the nearer focus of an ellipse are respectively ( 1, O)

and ( 3, 0 ) and its eccentricity is % . Find the equation of the ellipse.
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Section-C
AT @6 2 Teg e |
Answer any one question.
2 d%y
7. y=xlogyx TCT — e 3|
dx
3
. d y . 2
Find if y=x“lognx.
dx3 10
8. u=x+y° +3x%y+3xy? TEFFHT (F@  Euler -a SofoNena 7S] (I |
Verify Euler's theorem for the function u = x> + y3 + 3x2y + 3xy2 .
3
9. I (AT j'(4x+ 11)dx @3 ST ool e |
2
3
Find, from definition, the value of j(4x +11)dx.
2
e
10. [ |- ——— |dx a9 W Fef |
O8e X (log, x)
e
Find the value of j- 1 1 __ 1 5 dx.
5 08¢ X (log, x)

6x1=6
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